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Mock Test-I 

Biology 

(Optional) 

Section – A 

(Botany) 

Full Marks – 35 

Pass Marks – 11½ 

All questions are Compulsory 

lHkh iz’u vfuok;Z gSA 

Candidates are required to write both the Group and the Question Number in every question 

attemped. 

ijh{kkFkhZ izR;sd mÙkj ds lkFk lewg vkSj iz’u la[;k vo’; fy[ksaA  

Instruction : 

This question peper consists of four Groups i.e., A,B,C And D. 

bl iz’u i= esa pkj lewg ;Fkk v]c] l vkSj n gSA  

All groups are compulsory 

lHkh lewg vfuok;Z gSA  

Group – A 

[k.M & v 

Select one correct answer:          

fdlh ,d lgh mÙkj dks pqusa %&    

GROUP – A                  1 X 10 = 10  

(Multiple choice Question/MCQ/Fill in the blanks/True of False Statements) 

fofo/k oSdfYid iz’u@fjfDr;ka Hkjs@lR; ;k vlR; dFku½ 

1. The Ploidy status of the secondary nucleus before fertilization is : 

(a) Haploid  (b) Monoploid  (c) Diploid  (d) Triploid 

fu"kspu ds iwoZ lsds.Mªh U;wfDy;l dk xq.kklw=kad D;k gksrk gS \ 

(a) ,d lw=kad (b) eksuksikWY;M  (c) fglw=xq.kkad (d) Jh lw=xq.kkad 
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2. The edible part of the cashew nut is  : 

(a) Endosperm  (b) Cotyledon (c) Mesocarp   (d) Epicarp 

dktw esa [kkus ;ksX; Hkkx gksrk gS 

(a) Hkwz.kiks"k  (b) chti= (c) e/;Qyk"k  (d) vf/kdyka"k 

3. Which of the following is a test cross ? 

(a) TT X tt (b) Tt x tt (c) Tt x Tt (d) TT x TT 

fuEu esa dkSu ijh{k.k ij la"CPU gS \ 

(a TT X tt  (b) Tt x tt (c) Tt x Tt (d) TT x TT 

4. The theory of ‘Natural Selection’ was proposed by : 

(a) Lamarck  (b) Charles Darwin (c) Hugo de Vries (d) None of the choice  

izkd`frd p;u ¼uSpqjy lysD’ku½ dk fl)kar dk izLrkfor fd;k Fkk  

(a) ySekdZ  (b) pkYlZ MkfoZu (c) g~wxks Mh oSfjl  (d) buesa ls dksbZ ughaA 

5. The removal of anthers from the bisexual and self pollinated flowers is 

called : 

(a) Anthesis  (b) Emasculation  (c) Electroporation  (d) Fermentation  

,d f}fyax o Loijkfxr Qwy ls ijkxdks’k ds gVkus fd fØ;k dks dgrs gSa& 

(a) iq"if[kyu  (b) fuiawdsljdj.k  (c) fo|qrfNnz.k  (d) fd.odj.k 

6. Which of the following is an air pollutant ? 

(a) Carbon dioxide  (b) Oxygen  (c) Carbon monoxide  (d) Data 

fuEu esa D;k ok;q iznq"d gS \ 

(a) dkcZu MkbvkWDlkbM   (b) vkWfDltu   (c) dkcZu eksuksvkWDlkbM                

(d) vi;kZIr vkWdM+s 

II. Fill in the blanks with the appropriate given option for each question : 

fjDr LFkkuksa esa iz’u esa fn;s x;s mfpr fodYi ls Hkjs % 

7. Banyan and Peepul are --------------- (key stone species/corner stone 

species). 

cjxn rFkk fiiy &&&&&&&& gksrk gS ¼vk/kkj dk iRFkj@dkSus dk iRFkj½ 
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8. EcoR1 is a ---------------- (Plasmid vector/restriction enzyme.) 

bdksvkj1 ,d &&&&&&& ¼IykfLeM+ okgd@izfrcU/kd fodj½ 

III. State True or False for the following statement questions :  

fuEu iz’u esa fn;s x;s dFku dks lR; ;k vlR; crk;saA  

9. The Nationality of Gregor Johann Mendel was an Australia. True or False 

xzsxj tksgSu es.My dk jk"Vªh;r vkWLVªsfy;k FkkA lR; ;k vlR; 

10.  Pollination of Flowers with the help of ants is called Entomophily. True 

of False. 

iq"iksa esa phafV;ksa }kjk ijkx.k dks fdV izseh dgrs gSaA lR; ;k vlR;A  

GROUP – B          2 X 3 = 6  

(Very Short Answer type Question Carrying 02 Marks Each) 

¼02 vad ewY; ds vfry?kq mÙkjh; iz’u½ 

11.  Draw a well labelled diagram of pollen grain showing germ pores. 

,d ijkxd.k esa vadwj.k fNnz fn[kkrs gq, ukekafdr fp= cuk;sA  

12.  The Full unabridged (expanded) from of PCR and which enzyme is used.  

Ih0lh0vkj0 dk vlaf+{kIr ¼iw.kZLo:i½ fy[ksa rFkk blesa fdl fodj dk iz;ksx gksrk 
gSA  

13.  The coiling of the B-DNA is ---------- (left handed/right handed) and the 

Z-DNA is ------------------ )left handed/right handed) 

ch0&Mh0,u0,0 esa dq.Myh &&&&&&& ¼cke gRFkk@nkfguk gRFkk½ vkSj tsM+& 
Mh0,u0,0 esa &&&&&&&& ¼cke gRFkk @nkfguk gRFkk½ gksrk gSA  

GROUP – C           3 X 3 = 9 

(Short Answer type Question Carrying 03 Marks Each) 

¼03 vad ewY; ds vfry?kq mÙkjh; iz’u½ 

14.  Select the correct match of 1,2 and 3 with the option A,B and C in the 

given codes : 

  1. Egg fM+ac      A Triploid Jh lw=xq.kd 

  2. Endosperm Hkwz.kiks"k    B Diploid f}lw=x.kd 

  3. Nucellus C;wflyl    C Haploid ,d lw=x.kd 

  Code : ladsr  

  (a). ¼v½   C lh   A ,  B ch  
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  (b). ¼c½   C lh   B ch  A , 

  (c). ¼l½   A ,   C lh  B ch  

15.  Explain the 1 : 2 : 1 ratio of incomplete dominance. 

viw.kZ izHkkfo ds 1%2%1 dk vuqikr dk O;k[;k djsaA 

16.  What is emasculation ? How it is done and what are the precautions 

taken for emasculation.  

fuijkxdsljdj.k D;k gksrk gS \ bls fdl rjg ls djrs gSa rFkk fuijkxdsljdj.k 
djus D;k lko/kkuh ysrs gSaA  

GROUP – D          5 X 2 = 10 

(Long/Essay type Question Carrying 05 Marks Each) 

¼05 vad ewY; ds fn?kZ@fuca/k izdkj ds iz’u½ 

17.  What is pollination ? What are the benefits of cross pollination. Describe 

the contrivances of cross pollination. 

ijkx.k D;k gksrk gS \ ij&ijkx.k ls D;k ykHk gksrk gSA ij&ijkx.k ds fy, 
;qfDr;ksa dk o.kZu djsaA  

OR 

What are the basic tenets of Mendal’s Laws of Inheritance ? With the 

help of Punnet Square describe the Dihybrid cross using the garden pea 

as an example. 

es.My ds oa’kkxr ds v/kkjHkwr rF; D;k gS \ iuSV oxZ ¼iuSV LdoSj½ ds enn 
ls f}xq.kd ladj.k dks eVj dks m/kkgj.kLo:i ysdj O;k[;k djsaA  

18.  What are producers ? Outline the role of producers in a forest 

ecosystem. 

mRiknd D;k gksrsa gSa \ ou ifjfLFkfr ra= esa mRiknkdksa dk D;k dk;Z gS] leh{kk 
djsaA  

OR 

What is air pollutions? Mention the names of some air pollutants that 

bring about physical and chemical changes in the quality of air. How 

these changes can be controlled.   

ok;q iznq"k.k D;k gS \ dqN ok;q iznq"k.k dk uke crk;sa ftlds dkj.k ok;q ds 
HkkSfrd rFkk jlk;fud ekudksa esa xq.kkRed ifjoÙkZu gksrk gSA bu ifjoÙkZu dks 
dSls fu;a=.k dj ldrsa gSaA 

 


